
 Lesson 37 Problem Set K•4 

Name Date 

Listen to each story.  Show the story with your fingers on the number 
path.  Then, fill in the number sentence. 

Freddy has 3 strawberries for a snack.  His dad gave him 2 more 
strawberries.  How many strawberries does Freddy have now? 

Freddy ate 2 of his strawberries.  How many strawberries does Freddy 
have now? 

Logan had 7 frogs.  2 frogs hopped away.  How many frogs does Logan have 
now? 

Pretend that Logan’s 2 frogs hopped back.  How many frogs does he have 
now? 
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